Year 5 Homework, Spring Term Week 5

-

Maths: Speedy Six

10m

1. How many centimetres less than 8m is the ’ ’ ’

total of twenty 36cm lengths?
2. Which is larger 3/5 or 12/15?
3. 12x5x20
4. 40 waffles cost £22. Find the cost of eight
waffles.
5. Find the sum of the prime numbers
between 60 and 70.
6. What is the perimeter of this shape?

6m

Keep practising your times tables.
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Please see the separate sheet for more detail on your Famous Volcano research.

/

~

Spellings
Core Support
eight tough
weight rough
height enough
achieve through
field although
mischievous play
enough may
thought way
colour away
favourite eight

\_

/

English Homework

Optional Maths Extension:

One bonus house point available

He makes this shape using three of the rectangles.

3cm
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Alfie has some rectangles.

- 8cm —»

What is the perimeter of Alfie's shape?

Homework is due in on 13t February.



